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7. Determine the rate law and calculate the value of the rate constant (with the appropriate units)

for the reaction
A + B -~ products

given the following data:

Exp. [A] B1 Rate, M/s
s | 0125 | 0125 | 1.04x10%
5

w2 | 0375 | 0125 | 936x10+ |= Rakeo LAD

w5 | 0375 | 0250 | 936x10¢ | Rate « LY
SRate=Telal* =t = (Lox o Mfs) [(0.2EM>) = §,6b Tt

8. Determine the rate law and calculate the value of the rate constant (with the appropriate units)
for the reaction

A,+B+C- AB+AC

given the following data:
|| Exp. | [ALM | [BLM | [CLM | Rate, M’
#1 0.125 0.11 0.702 1.07x 10°
# 0.500 0.111 0702 | 214x10° | DRdex LA
#3 0.125 0.444 0.702 428x10° [ Cakewt CB]
44 | 0125 | 044a | 0351 | 428x10° | Qabex e}’
>Cite = -%EAQV?«EB'_S >k = C\,O?mo'f’ﬂ.(;“)/w.t 25m) % (o, M) =2 .'*%I:_[g-:_l

9. Determine the rate law and calculate the value of the rate constant (with the appropriate units)
for the reaction
A+ B+ C - products
given the following data:

Exp. | [ALM [B], M [C], M Rate, M's™
#1 | 0128 | 0384 | 0702 | 356x10°
#2 0.384 0.384 0.702 1.07x102 = Rake w CAY)
3 | o128 | o128 | 0702 356x10° 2> Ratest L@’
4 | 0128 | 0128 | 0351 | 890x10° | Ratest Led*
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